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GEOGRAPHY

(Honours Generic/Regular)

For Honours Generic
Answer the Questions from any one Option.

OPTION - A
( Geography of India with reference to
~ N-E India)
Paper : GGY-HG-4016
OPTION - B
( Population and Settlement Geography)
Paper : GGY-HG-4026
For Regular
( Geography of India with reference to
N-E India)
Paper : GGY-RC—-4016
Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION - A

{ Geography of India with reference to

Paper

N-E India)
GGY—HG—4016/GGY—RC—4O 16

1. Answer the following objective-type questions :

1x7=7

o T eReR emEd Bes Tl ¢

(@)

(b)

()

()

What is the standard meridian of
India ?

GiEed W T PRSI ?

What is the total geographical area of

India ?

o T (SR S R

Give an example of antecedent river in

India.

e G4 A A Sareel
What is ITCZ?
ITCZ &2
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(e)

@)
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How many agro-climatic regions are
mentioned according to the Planning
Commission of India ?

Sed A SIS S SO {Baieb! FiA-
TEAR I S S B (2R

Name the state where the majority of

petroleum reserves are available in
India.

SI9ed (AAGERIN Foire IR SoEg 4@
TR "W e

Which one of the following water bodies
separates the Andaman from Nicobar ?

oo Y A1 (PG GeTSits] SN

fFiceiRes 471 %3 FR0R?
(i) 11° Channel
11° (Bosst
(i) Gulf of Mannar A
S SR
(i) Andaman Sea
SEEE Al
iv) 10° Channel
107 Bast
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Answer the following very short answer-type

questions : 2x4=8
ware ) S 5 Bed-«e Aavea sl ¢
(a) Which two mountains surround India
~ in the North-West ?
@R 707 7re eRes Tea-wAfhy e e
iz ?
(h) What is meant by ‘bursting _of
monsoon’ ?
Gy R Ife & e e
(c) Name any two agricultural practices of

NE India.

-5 SR [P 7o) iR e A1 for |
(d) Name the states of India having the

highest and the lowest density of

population.

Tiged RIS S AN Gk Ge 4

e A &1 |
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Answer the following short answer-type
questions : (any three) 9*x3=15
weTe 3l pib Ceq-44els ebrizs ©ed Wal ¢ (Repiz
rofaor)

(a) Give an account of the mechanism of
Indian Summer Monsoon.

Rl |

(b) Write a short note on the characteristics
of Indian agriculture.

w@w?ﬁam@w@w@m%ﬁn

(¢) What are the significant features of the
National Population Policy, 2000? 5

2000 BF G TELAN Tifeq *‘mﬂmﬁn
(SRR ERERET

(d) Write a geographical note on the soils
of India.

wiged Wi FHE @Bl colalifERE G Bl

(e) Discuss the trend of population growth
in NE India.

TEe-o7 TREA GEA I 4 oA
ST 1 |
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4. Answer the following qucstions : (any three)
10x3=30

wete il e e fuml ¢ (R felaot)

(a) Give a geographical description of the
Peninsular plateau.

wifaey etgE ST 2l |

(b) Explain the difference between the
Himalayan and the Peninsular rivers.

BT S MiRser it WG 2 1
+491 |

() Explain the agro-climatic regions of
India in detail including their
characteristics and agricultural
practices.

SRR FR-GEAR SeETEE (e o 9
Awfe Koo i <4l
(d) What are the key factors influencing

the growth and development of Indian
industry ? Discuss.

oo Somia 3 S Fae gem A

35 BIFETR  76 7 Sl 91

(e) Explain the distribution and production
of iron ore in India.
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SIS (R TR Foad i SesimR e
SRR

Divide NE India into physiographic
regions and describe any two divisions
in detail. 2+4+4=10

SERR ST G-eliefen wwee o
Riceict 7br e temm [ adqi 4t |
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OPTION -B
{ Population and Settlement Geography )
Paper : GGY-HG-4026

1. Answer the foilowing questions : 1x7=7

were Tl erpTEs ey ol 8

(a) When was the first complete population
census started in India ?
Sleae 22w A EieEEe ofon wies
4l =l e '

(b) Name one high population density
region in the world.

AT @R TR SR G SRR AN
ol |

(c) Who wrote the book A Prologue to
Population Geography ?

A Prologue to Population Geography <%
et i s

(d) Define population census.

@AREEE wge! {6l |
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(e) Which of the following is not a high

(@)

population density region ?

(i) South Asia
(i) Eastern Asia
(ti)) Central America

(iv) Western Europe

w@mww (RPINCE) Seea] (@R eamcal Ted

I W2 ?

(i) i @

(@) =7

(iii) T oGRS

(iv) =5 e

What is primate city ?
430 o fee

What is central place ?

(T I T e
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Answer the following questions in very short :
554 SHPTIR SIS 5y U fEdl ¢ Y
fa) Write a short. note on the scope of
population geography.
: SRR WeollETd #IfeRE @B Y il o |
(b) Eil;.;t;;sn ;he meaning of population
TR Aqs i & gEie

(C) What do
you mea
settlements ? n by morphology of

wifeq Torogd e f5e

(d) Mention an
y two characteristi
settlement. SCistcsolua

airsy <pifed e 15 tEer S |

Write short answe
rs
following questions ; i threeSOE dfe
x3=15

o s AT AR S 2

a) Menti
(a) irl(.3ﬂr1t101‘1 a few geographical factors that
uence the distribution of population

G Fewei (e [ ST
SIANIGEES
A G BeEe = | TR
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(b)

(c) Discuss briefly

(d) Hiera
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Demographic

Discuss the stages ofee:
th suitable

Transition Theory’ Wi
diagram.,

o =9I CIeO o (BignT IRRIECE
Far<E S T4

the scope of settlement
geography.

s s e i |

rchically arrange the urban

settlements in terms of their population

(e Distinguish between ru_ral and urban

settlements.
o e SRR G sfjefesy fidl |
Discuss in detail the meaning and scope of
10

population geography.
gratterd o I i FTAGE ST
Oor / 41

pulation density regions in
ples.

TR

Discuss the po
the world with suitable exam
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TG Brsete AJREIE SRR XY SR
ERERCI DI

Discuss the meaning and scope of settlement
geography. 10

S oo S S 2IF9S KA SieEna 54 |
Or / 994

Discuss in detail the morphology of .

.~ settlements.

T Teloes RE q2ai3 90 <1 |

Interpret the ‘Demographic Transition
Theory’ in detail and examin its applicabilaty
in present-day context.

5+5=10
“(CCIlRFT (Gieebeq Ogrh! I¢fdl 1 S TS A
 AREFEFTS OgoR 9wy A< 9

Or / 944

Define migration.:Discuss briefly the push
‘and pull factors of migration. 3+7=10

TR 3T forel | egeee e S wliein SRE
B G0 51 |
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